IR7 betatron collimation, beaml@collision energy

Case 1: vary TCP length at fixed skin depth parameter
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IR7 betatron collimation, beaml@collision energy

Case 2: L_;-p = 0.6 m, vary skin depth parameter

collimation inefficiency

0.12

0.1

—e—n(D)

-
v

0.08

—=—1(250)
Leff

0.06

0.02 \\.\k

average impact parameter (um) (nrev=1)

10

30

25

20

15

10

:1)

effective path (cm) (nrev




IR7 betatron collimation, beaml@collision energy

At successive revolutions...(L_;-p=0.6m, <b> 1=0.13um, Leff ,-;=0.39cm)
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